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(a) Shortage 

(b) Surplus 

@ Market equilibrium 

@)) fixed cost 

(a) 0 

(b) -fixed cost ~~\-~ l~o 
5p -Ac:\-~ z er 

( d) unknown \3 p -:;:;. ~ 
\~ \'3 

~Assume that the demand function in a market is 2p + q = 40 and the supply function is 
5p - 4q = 24, if the price is $8, then there will be: 

4. Assume that the revenue function for a product is quadratic, then R(O) = 

value of the investment. is: 'Q;:: t>-r- -y 

r= ~ft 
~\~0-)Co~~~) (&S) 

(a) $180 

(b) $1180 

(@) $15 

( d) $1015 

(a) 2 
(b) 0 

(c) -1 

@mdefined 

3. A principal of $J.OOO is invested for 6 months at a simple interest rate of 3%, then the future 

\-\- \ 
\ -l 

(a) $19 
(b) $22 

(c) $18 

(@) $17 

x2+1 
2. lim-- = 

x-tl X - 1 

Question 1. (20 points) Circle the most correct answer: 
. . ) _ 3 + 2-x + 1 7 then the fixed cost equals: 

1. If the cost function for a commodity is C(x - x ' \~ 

There are 2 questions in 5 pages. 
Tirne: 75 minutes. 
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(@) R'(15) 

(b) R'(l6) 

(c) R'(17) 

(d) R(16) - R(l5) 

10. If R(x) is the total revenue function for a product, then the estimate increase in revenue from 
selling the 16th unit equals: 

(a) x2 + x-1 + 3 

@ 1 
x2+1 

( c) 6 
x2-9 

(d) None of the above 

9. Which one of the following functions is continuous over the interval (-oo, oo ): 

(a) True 

@)False 

@o.o93% 

8. If f ( x) is continuous, then f ( x) is differentiable: 

(c) 9.3% 

®~ 
(c) -;3 

( d) undefined 

(a) 0 

/ 2. 
9x - 3x + 4x 

6 · x~::1oo 1 - 2x2 ' 

7. If $2100 is invested for 4 years so that the future value_ of the investment is $3000 compounded 

annually, then the interest rate is: ~ z: \)l \-\ f;:, ~ '"' '-..\ 
(a) 7% 900~ ~ ~ 0J___ \-\~) 
(b) 4.2% ~ \u..:J oo 

~ \ ~ ~ 1-~S 1-:::: \ \--\( .) 



~17 years 

( c) 50 years 

(b) 4 years 

(a) 3 years 

continuously: 
15. How long does it take an investment to double if it is invested at annual rate of 4% compounded 

2-?== ~ {t . 2\'= «-i-1-%:, )"' 
2 ht-= ,a ( o.04) t t 
~ [!- '2J>~_l \-\- o.o"') 

Q r -t -o 9 :-L 

_l~_-1~1~~ )fA,~ 

\ 
LA. \ \f\..O,u \ \ ~ ()V'\ [/\.- 0 ' i) ~ 0 '--\ 

3 

14. If the revenue function R(x) = 3x3 + 6x2 + 5, then the instantaneous rate of change of the 

marginal revenue is: :::: Of (\"'L-+ \CZ/( + 0 

(a) 3x3+~x2+4 _::; (~X--\- fL 
(b) 6x2 + 8x 

(c) 9x2 + 12x 

(@ 18x + 12 

(b) False 

t{!:pTrue 

is always negative: 

13. If the demand function for a certain commodity is linear, then the slope of the demand function 
--==- -, 

~ 

- ----i_ I - -( D-Q (b) ~ 

(c) -;/ 

(@)1 

\ - -I 

Q.._ \, 

12. If f(x) = x5, then the average rate of change off over the interval [-1, 1] equals: 

(a) o ' .f(o~ - ~(°') 

then the market equilibrium point is: '2, l(o _6A :=· '2q --\-~ 
(a) (80, 260) - ( O () +t<]__ -.\- 6<::+- - \ o o 

(b) (80,60) ·3l{o z: -1-.ci. Y2P -~( 
~(40, 180) ~ ~ 

(d) (40, 240) l\ 2 , s 

11. If the demand function for a product is p = 420 - 6q and the supply function is p = 2q + 100, 

1~ 
I 



0 
2( <1j-1 ( '>_)~ +~ -- 0 - 

Of - q 
) c ')( -\-~) 

(!j $0.05 

(b) $20 

(c) $450000 

(d) $3000 

20. If the total cost of producing 150 printers is $3000, then the average cost per printer equals: 

- 
(b) ~ 

(c) -2 

(d) 2 

-5 
6 

@ (x:l)2 

(b) (x~~)2 

(c) (x~1)3 

( d) (x~~)3 

19. lim2x2-7x+3= 
x-t3 9 - x2 

(d) None of the above 

illt?Let J(x) = _x_, then f"(x) = 
~ x+l 

~ -1 ~4 

(a) 112 

(b) -,/ 

(c) 2 

(a) 1 

(b) -1 

l y--\, )7- 
C~o - I l'i!+1).(1\ 

( c x +·11J1 

16. If y = x4 - 4x - 1, then the function has a horizontal tangent at x = 



Question 2. (5 points) Suppose that a manufacturer of electronic devices has fixed cost of $1700 and 
the variable cost per unit is ~x + 80, the selling price of one unit is 360 - ~x. Answer the following 
questions: 


